1

N A BB R

(1) 2A
F8B8 B AR X EREE
RJt6.19 SBERR 640,000 330,000
RJt.6.24 KNIBRER 640,000 B 377,000 E
5t 1,280,000 E 707,000 B
(2) m
RS WRFERB B B (i)
KNIBRE BT RJt.7.23 63,000 £ 50
Nl = RJt.7.26 63,000 £ 50
fUE A1 Rit.727 65,000 £ 50
=R RJT.7.30 65,000 B 50
=RMER T 65,000 50
8P R H30.7.31 56,000 B 50
S28RH H308.7 330,000 55
st (75D 707,000 B
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Yk 30 FEBBR

1 VYA HIBSBERER

(1) 2A
F8B8 B AR X EREE
H30.6.20 KNISNERR 640,000 396,000
H30.6.22 SESRIEH 640,000 B 408,000 E
5t 1,280,000 E 804,000 E
(2) m
RS WRFERB B B (i)
fUEs A1 H30.7.24 66,000 E 50
Nl = 1 66,000 £ 50
=R H30.727 66,000 2 50
AUIBRHRTR 1l 66,000 £ 50
8P R H30.7.28 66,000 B 50
=RMER T 66,000 50
S28RH H30.8.11 408,000 B 55
st (75D 804,000




I RFEHEDRSFERER

S0 EAEAEE RIREE

(L : &)
y:Xi ] EETHK iR B R ER ik

L Sk E ik BiGES 5H8H 87, 000

BXmKERRGES 5A10H 35,000 |sommt4 XhRABE R

5A14H8 26,000 |&

5HA15H 78, 000
5A16H 17,000
5A178 9, 000
ESA 5A18H 9, 000
5A19H 9, 000
5HA23H 9, 000
INET 192, 000
E=#XKERBEGES 5H9H 30, 000
12 LU it DX K FE IR B Xt SR i aR = 4H24H 30, 000
&t 339, 000
LStk ERRGES 9AH25H 6, 000
9A26H 18, 000
1048 31, 000
10811H 5, 000
INET 60, 000
BXBKERRGES 8H28H 19,300
8A29H 8, 000
8A31H8 17,000
A=At 9H6H 18, 000
9A11H 8, 000
9A14H 7,000
9A26H 15,000
9A28H 3, 000
INET 95, 300
E=#XKERBGES 8A228 19,000
& 1L 3 XK FE IR B SR iR = 8H8H 9,000
it 183, 300
L SHhigi K E iR B ES 3A28H 10, 000
A\)L Rl XK EIREX R ES 4H4H 10, 000
it 20, 000
L EitEKERRGES 3A28H 5, 000
BXmKERRGES 3A14H8 37,000
3A15H 27,000
3A20H 6, 000
INEF 70, 000
AH 3 E=tXKERBEGES 3A14H 11,000
3A15H 6, 000
3H26H 3, 000
INEF 20,000
12 L3 XK E IR B SR i aE = 4H5H 10, 000
it 105, 000




(BfL - B)

B EETHK R B BRRN Bz
fore | BLREAEREARGES 8H21 A 800,000 | oo
{on ESRKERRBHES 84230 260, 000
e 860, 000
EEmKERERES SH30E 15,000
jpen | s
BLHEKEREES ERES 100, 000
it 165, 000
5 B ik E IR B ES 6850 40, 000
6560 12,000
65128 30. 000
65180 15, 000
INE 97, 000
EEEKERERES 55290 20, 000
68128 23. 750
6813H 35, 602
6818H 35, 750
N T18A2H 13, 750
Y= 2 '
INET 128, 852
C3 ESHRKEREGES 5E28H 52, 000
686H 12, 000
65138 47,000
65180 14,000
INE 125, 000
BLERKERES ERES 5H30H 100, 000
65180 25 000
68198 100, 000
68298 20. 000
INE 245, 000
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1

N 1 BB BERR
(1) 2A
F8B8 B AR X EREE
H29.6.9 SBERR 640,000 250,000
H296.12 KNIBRER 640,000 B 293,000 E
5t 1,280,000 E 543,000 E
(2) m
RS WRFERB B B (i)
=i H29.7.15 49,000 £ 50
fUEs A1 H29.7.18 49,000 £ 50
NG R =Y =i 1 48,800 50
RNISRE R H29.7.19 63,800 £ 50
8P R H29.7.20 48,400 B 50
=RMER T 49,000 B 50
S28RH H29.7.29 250,000 55
st (75D 543,000




I RFEHEDRSFERER
295 EAEREE RRRE

(e )
fiE EEIIK A iR =

LEMEKERRBES 7B218 87. 000

EEFEKERRGES 68230 12,000 |80mm# 4 X hPIE A

6830H 56,000 [&

7878 24, 000
78108 8, 000
78118 28, 000
78128 8,000
_ 78138 8,000
Srde 78198 16, 000
78208 8,000
78218 8, 000
8B5H 16, 000
INE 192, 000
ESRKERRIGES 58228 30, 000
BUMRKERERMERES 58238 30, 000
&t 339, 000
LEMEKERRBES 8H 258 35, 000
8H28H 20, 000
8H318 3,000
98158 5,000
INE 63, 000
EEEKERRGES 9B 4H 55, 000
F=Aa¥ 9A5H 36, 000
9B 6H 9, 300
98128 8, 000
INEt 108, 300
ESRKERRIGES 85236 19, 000
BLMRKERRNERES 88228 9, 000
it 199, 300
L BEKERRGES 38308 10, 000
AN BUMRKERERNERES 4A4H 10, 000
it 20, 000
R B K EREIGES 3530H 5, 000
EEFEKERRGES 38276 32, 500
35288 38, 000
INET 70, 500
i = ESRKERRGES 35236 9, 000
38278 11, 000
INE 20, 000
LR KERRNERES 4A5H 10, 000
&t 105, 500




(B : B)

il EEER BB BRARR W=
. . E=thRKEREHES 8A1TH 260, 000 - e
ATIE | LRk ERAAEGES 87 188 400,000 |THERA
it 660, 000
oo | EERAERRGES SA%0A 5. 000
b 1B K B 1R B S i 8A30E 190, 000
&t 255, 000
EBREAERRGHS GATIE 30. 000
6A8148 52,000
68158 15, 000
INEE 97,000
EEmAERRGES 5A30E 20,000
5A31H 7,000
6A148 35, 000
6158 41, 250
6H21H 10, 000
Sy 6H22H 13,750
A= 2 :
C3 _ S INET 127,000
E=hXKERBHES 6ATH 75, 000
6H22H 50, 000
INEE 125, 000
BB ERRNEHES 5A3IH 38, 000
6A1H 22,000
6H21H 120, 000
6H22H 25,000
6H27H 40, 000
INEE 245, 000

594,

000




1

T 28 FEBE
N 1 BB BERR
(1) 2A
F8B8 B AR X EREE
H286.7 KNISNERR 740,000 377,000 E
H28.6.1 SESRIEH 640,000 B 282,000 B
5t 1,380,000 E 659,000 E
(2) m
RS WRFERB B B (i)
KNIBRE BT H28.7.14 63,800 E 50
fUEs A1 H28.7.15 63,800 E 50
NG R =Y =i 1 63,800 £ 50
=rR% 1 63,800 50
8P R H287.16 58,000 50
=RMER T 63,800 & 50
S28RH H28.7.29 282,000 55
st (75D 659,000




285 EARERIEE RRERR

(Bfsr : )
g FEFNK L Gil=! WU 5 HE
[ B HigKERR G ES 68148 87,000
SxmKERRBES 4R1H 8,000 |80mmy A XHEBHL
4R48 8,000 |&
4B5H8 8,000
468 8,000
4R78 64, 000
4B8H 20, 000
4812R8 16, 000
_ 48138 8,000
i 4B148 12, 000
48158 16, 000
4819A8 8,000
48268 24,000
58178 8,000
Mgt 208, 000
E=hRKERBIHES 58128 30, 000
fa Ll XK 2 IR Bt SR i ig = 48198 40, 000
it 365, 000
L EiigKERE G ES 988H 16, 000
9898 15, 000
98128 19, 000
9813A8 3,000
98148 10, 000
INEt 63, 000
EXm/KERBGESR 9816H 10, 000
98278 8,000
1086H 15, 000
A=—FAa¥ 10878 16, 000
108188 6, 000
108258 4,000
108268 17, 300
108278 15, 000
108318 9,000
INEF 100, 300
ESRKERRGES 88318 19, 000
fa Ll XK 2 IR Bt SR i iE = 8H25H 9,000
it 191, 300
LB Hig K ERE G ES 29 3/27H 10, 000
ANJL R R K ERBEX R HES 38278 10, 000
it 20, 000
LB KERBGES 29438318 5,000
o | SERKERRBES S:HE 52, 500
E=RKERRBES 3A218 5,000
38228 3,000




(B4 : B)

i EEIRK KRB MR EH BE
R-RRKERERES 3A23H 12, 000
n4p = NG 20, 000
B XK EREX R IHESR 3A31A 10, 000
it 87, 500

FTR E=thRKERE G ZES 8H4H 260, 000 e

FIIE | LRk EERNERES 8H58 100,000 | T HEAA
it 660, 000
—o1p | CERKERRGES SA23E 85. 000
Sem ?Emimlzmr_é_ﬂgﬁ%mé%% 8A238 190,000
FEREAERRGES 6H16E 55, 000
68178 42,000
INEt 97, 000
EXFMKERBHES 6818 55, 352
6A28 20, 000
6R68 7,000
67 16H 13,750
543 68178 26, 750
c3 INEt 122, 852
E=RKAERRGBES 6A 108 125, 000
Rl ROK E R L SR i = 6828 145, 000
7R8H 19, 000
TR 148 71,000
8A1H 10, 000
et 245, 000

589, 852




1 VYA HIBSBERER

(1) 2A
F8B8 B AR X EREE
H276.6 KNISNERR 640,000 327,000
H2769 SESRIEH 640,000 E 189,000 B
5t 1,280,000 E 506,000 E
(2) m
RS RFERB B B X ()
fUEs A1 H27.7.21 57,000 E 50
Nl = 1 52,000 FE 50
RNISRE R H27.7.22 52,000 50
8P R H27.7.21 52,000 50
=R T 57,000 & 50
=RMER T 57,000 & 50
S28RH H27.7.29 189,000 55
st (75D 506,000




215 EREREE RRRR

(I B)
fafE EE i =! WREH &%
L BihiEKERRGES 68178 87,000
ABXFKERAEGESR 5A28H 8,000 [80mmir 1 XRRIH
5H298 20 000 |t
58308 16, 000
68118 16, 000
68128 36, 000
68138 4,000
_ 68158 16, 000
£5 68168 4,000
68188 8, 000
68198 56, 000
68248 8, 000
INET 192, 000
E=thRKERBIHES 6AH3H 30,000 |HMEERA
R XK ERE X R IHBER 68238 36,000
it 345,000
LSt KER B ES 8A18H 19,000
8A20H 10,000
8A21H 33,000
INEE 62,000
SXFKERERES 9A28 46,000
_ . 9A3H 34,300
F=7at 9A48 7,000
9A5H 8,000
INET 95,300
BE=#RXKERRBGES 8A19H 19,000
fa L XK FE R B SR i 8A19A 9,000
it 185,300
2% L BihiEKERREGES 284 3H28H 10, 000
VAV —
&t 10, 000
L BithiEKERRGES 28%3A31H 5,000
BEXmKERRBESR 38308 35, 500
P 3A318 30, 000
E=#RKERRERES 38308 20, 000
f& L XK FE IR B SR i = 3A318 12,000
Hi 102, 500
2o TE Bt X KEREBES 8g108 260, 000 P i
Tomm B R OKERE X K IRESR 8a11a 200, 000
Hi 460, 000
EEXmKERRBES 88218 50, 000
R 88248 35, 000
e INE 85. 000
f& L XK FE R B R i aE e 882180 169, 000
&t 254, 000




(B - )

Az FEFRK )G = W E =5
G EhigKERBRIRES 68168 12, 000
68178 30, 000
68188 40, 000
68258 10, 000
Nt 92, 000
B EmKERBEGES 6848 46, 750
» 68178 33, 750
Y= 68188 6, 852
63 68258 15,150
68268 13, 750
N 116, 252
ESHXKERRGZES 6816H 125, 000
B R KERES KHES 68108 150, 000
68178 145, 000
N 295, 000
it 628, 252




1

N 1 BB BERR
(1) 2A
F8B8 B AR X EREE
H26.6.13 KNISNERR 640,000 292,000
H26.6.18 SESREH 640,000 B 358,000 E
5t 1,280,000 E 650,000 E
(2) m
RS WRFERB B B (i)
fUEs A1 H26.7.24 54,000 E 50
Nl = H26.7.28 47,000 £ 50
AUIBRHRTR 1l 47,000 R 50
HPHRER Il 40,000 B 50
=R H26.7.29 56,000 £ 50
=RMER T 48,000 B 50
S28RH H26.812 358,000 55
st (75D 650,000




2 HIBREHOEBRBRER

265 EAGERIEE U RE

(BfiL - @)
y::Ri: FEFRK )i Gl = BURE R wE
LEMEKEREGES 26 7A148 92. 000
BXBKERREGES 58128 24,000 (80mm A XeRfElE
58138 32,000 |PR
58168 64. 000
58178 16, 000
58208 12,000
_ 58238 12,000
£2X 5H828H 32. 000
INE 192, 000
BEMRKERBIZEZS 6830R 38,000 |diEBERLFE
2L XK ZE R B R iR ES 6A108 37,000
68178 7,000
INE 44. 000
5t 366, 000
LEEKERBIZES 98268 18, 000
10878 5. 000
1088H 14, 000
108228 20, 000
INE 57, 000
EXFKERBGES 9A8H 10, 000
_ . 9A9E8 25. 000
F=Aat 98108 51, 300
9A188 9. 000
10838 3, 000
INE 98, 300
EEMXKERBRGES 9898 19, 000
B KERBEDT KIGES 98178 13, 500
5t 187, 800
. LEMEKERBIRES 27438318 10, 000
A it 10, 000
[LEMEKERRGES 27438318 5, 000
EEHAERBGES 38318 35, 500
hya EEMXRKERBRES 3A31H 20, 000
Eh X KERBESY KB ES 3A31H 12,000
5t 72. 500
. | EERRAEREGES 8R11HE 260, 000 L
AVIE | LRk ERRN GRS 87128 200,000 | T PLFR
5t 460, 000
EXFKERERES 88298 115, 000
L 9818 50, 000
- 2/5mIm - INET 165, 000
=EILHh XK ERE S R ES 9A1H 140, 000
5t 305, 000




(Bifr - )

faiE EBEIR N Gil=! iR E ikt
LSt K ERBIHER 68138 22,000
6816H 30, 000
68198 30, 000
INEE 82,000
BXFKERERES 6848 20, 000
68138 6, 875
HY= 68198 48,875
C3 68278 27,500
INET 103, 250
EEtXKERREGES 68138 125, 000
Rl XK ERBE RIRES 6838 43,000
6819H 123, 750
7181H 7,000
INET 173, 750
i 484, 000




1

N 1 BB BERR
(1) 2A
F8B8 B AR X EREE
H256.3 KNISNERR 640,000 332,200
H256.4 SESRIEH 640,000 B 359,000 E
5t 1,228,000 E 691,200 E
(2) m
RS WRFERB B B (i)
fUEs &1 H25.7.16 62,200 E 50
KNIBRE BT 1 54,100 FE 50
8P R 1 43,300 50
NG R =Y =l H25717 54100 2 50
=R T 54,700 & 50
=IRMRR H257.19 51,000 50
S28RH H25.7.23 359,000 55
st (75D 691,200




2 HIBREHOEBRBRER

(1) 2ARR

(B B
afE FEFNK AH BUREE 3
ESA G EMEKERRGES 68780 90, 000
EXFKERBRREZS 68218 33,100 80mmﬁ:{ Ah
7818 90,900 |
7A8H 24,100
7890 9. 100
78108 12, 900
78138 14,700
INgH 184, 800
BEhXKEREGES 6858 38, 000 B A
121U Hh XK ZE iR B R iIRES 68118 44,000
&t 356, 800
F=Aa¥ G EEKERRIGES 983H 15, 000
0F4M 3,000
9A5H 16, 000
0R9E 17,000
N 51, 000
EEFAEREGES 90R5H 2,000
9A6H 44, 000
0B9H 5. 000
98108 27, 300
0B 118 26, 000
Nt 104, 300
EEEKkEREGES 8H278 19, 000
121U Hh X oK ZE iR Bt RiRES 8A29H 13, 500
it 187, 800
250 G e KERRREZES 3A278 10, 000
&t 10, 000
G e KERRREZES 84228 18, 000
EEmKERERES 8A21H 130, 000
88228 35, 000
3vIE I 165, 000
BEhXKERR G ES 8A5H 260, 000 B BE
BLRE K ERENEDES 8H 220 275. 000
&t 718, 000
B igKERRIGES 6848 100, 000
EEEAEREGES 58238 10, 000
" 5H28E 100, 000
nI= 58318 50, 000
688H 100, 000
1898 100, 000
INET 360, 000




(BAfsL : )

y::Ri: FEFR =R =] U H&E
EERRKEREGES 6E4R 170,000
68180 100, 000
F4f 2 65260 370, 000
o] 1850 260, 000
(D3%F) INE 900, 000
BILhE K ERBAEGES 78226 100, 000
it 1,460, 000
LEMEKERRBES 687H 27, 000
78228 22. 000
INE 49, 000
HH= EXFKERRRES 5H828H 20, 000
c3 78228 13, 750
NG 33, 750
12 1L Hh X 7K ZE iR Bt R iR RS 685H 160, 000
5t 242, 750




1

N A BB R

(1) 2]A
F28 RIS SYN=1 R
H24.6.12 SESBH 640,000 322,000 £
H24.6.13 KIS 640,000 £ 288,000 £
5t 1,228,000 B 610,000 £
(2) BUR
BB RRERB =251 B X (mm)
KIS H24.7.20 51,000 B 50
=ZRMEm H24.7.20 61,000 2 50
R BRI H24.725 41,000 EE 50
(B H24. 726 62,000 50
=R H24.728 52,000 £ 50
NGRSy H24.728 51,000 £ 50
SESR H24.8.3 300,000 £ 55




2 HIBREHOEBRBRER

(1) 2ARR

)
Py FEIH AE AR W=
EBREAERRGES 5A 288 112, 000

6H6H 124, 000
S EEkERRBES 6AToH 8900 s
£S5 6ﬁ16F| 17,100
INET 220, 000
RERRAERRGES 5A 23R 38,000 | B &A
B K E IR A 5 S 5A27H 44000
it 414,000
9A5H 27,000
I Bk BB 2 9A 7R 9, 000
INET 36, 000
98118 25,000
9A12H 48, 300
SEmkEERBES 98148 22, 000
9H18H 4,500
F=—Aa+t INET 99, 800
9A11H 9,000
REBE K EREE GRS 98 128 3,000
INET 12,000
98208 5,400
BB K E R S A 98218 8, 100
INEE 13, 500
it 141, 200
o EBREAERRGES 3A22E 150,000
it 150, 000
EBREAERRGES _ -
8H20H 115, 000
EEEAERERGES 8A 218 50, 000
E el INET 165, 000
REREKEREGES §A168 260,000 | FRIERA
FEURKERBYRIGES 8H21H 277,000
it 702, 000
6H5H 110, 000 C1
Bk R R GBS 68128 200,000 | of
INET 310, 000
582481 10, 000 C1
A4 s 5A30H 150, 000 C1
6818 100, 000 C1
ExmKERERES 68 14H 27,500 Cc3
6H15H 100, 000 C1
6H22H 200, 000 C1
INET 587, 500




EERREE (BE)
(BAfsz : )
aig FEEITH B H R E # HE
6A118 763, 000 Cl
BEMRKEREGES 68228 137, 000 Cl
\ INE 900, 000
AY= 5H298 43, 000 c3
FBLUMRKERREGKRBES 68128 117, 000 C3
INE 160, 000
5t 1,957, 500
* = C1 (£ZBE5m) C3 (ZB1g1 Omm)
(2) DEERK « R
j=2p ] WX IRE RES B EARE BREE(E) - Z(mm)
ES S=M 6/11-7/5 184,000 89-112
>,
ESE] 5/23-6/11 38,000 88
3yTE RE 8/6-8/20 250,000 42 4




1

N A BB R

(1) 2]A
FH28 RIS SUNE) X ERE#E
H23.6.13 NSRRI 640,000 £ 322,000
H23.6.21 SEERm 640,000 £ 288,000 £
&t 1,228,000 B 610,000 £
(2) BUR
B BRERB =21 B X (mm)
SEERH H23.8.10 288,000 B 55
P& R H23.7.22 61,000 £ 50
NSRRI H23.7.22 50,000 50
Nz E&317 H23.7.23 50,000 50
ZIRMRH H23.7.23 63,000 50
=RRH H23.7.25 58,000 50
HPBRa7E H23.7.25 40,000 £ 50




2 HIBRFHEBRBERR

1) SAR =)
18 BTk EE R E
RBREKEREGES 6A18 114,700
6828 65, 300
. N 6878 120, 000 L
) BEEkERRGES NG w100 | FEEAA
e INEF 220, 000
REMRKERBHES 58268 38,000 | RAERA
B K EREH E B 68178 44, 000
e 416, 700
RBREKERBRES 8A 248 27,000
9A6H 4. 000
BEEKERRGES 9;%2 j? ggg
F=Aat INEF 94, 800
REMRKERBHES 9A 18 12, 000
B K ERBA B 9A6H 13, 500
e 127, 300
RBREKERBRES 3A250 10,000
FyND EMEAERBRES 38238 250,000 | wRIE AL
& 260, 000
RBREKERERES - -
BEEkERRGES 9A 1R 190, 000
REMRKERRGES 8A17E 260,000 | eRIE A
AVIE | mlmRkEREENEGES 32532 zgfggg
e 277,000
it 727,000
6A7H 305000 | Ci
EBEkERBRES 67148 45,000 | cf
INEH 350, 000
5A31H 150,000 | Cf
i - 6578 200,000 | ¢
BEmkERRGES NG w0 000 | o
o NG 800,000 | Ci
R EEtRKERRGES 5A27H 900,000 | ot
6838 45,000 | ©3
6521H 32,500 | ©3
BRI ERBA EHES 64308 55,000 | ©3
1A88 27,500 | ©3
INE 160, 000
: 2,210,000




(2) PEBERK « BUR

=2bEd HXIRE R BREE R () B 2 (mm)

ES % 2=/ 6/11-7/5 216,000 80-91
e 6/7-6/25 36,000 88
IvIE e 8/20-9/14 344,000 424
AP SR/ 6/29-7/15 110 96




